ON TWO MEROMORPHIC FUNCTIONS THAT SHARE ONE VALUE CM

Amer H. H. AL-Khaladi

Abstract

In this paper, we deal with the problem of uniqueness of meromorphic functions that share one finite value CM and obtain some results which improve some theorems given by R. Nevanlinna and R. Brück and are related to a result of H. X. Yi. Examples are provided to show that our results are sharp.

1. Introduction and results

In this paper the term "meromorphic" will always mean meromorphic in the complex plane. We use the standard notations and results of the Nevanlinna theory (See [1] or [2], for example). In particular, S(r, f) denotes any quantity satisfying S(r, f) = o(T(r, f)) as $r \to \infty$ except possibly for a set E of r of finite linear measure. We say that two non-constant meromorphic functions fand g share the value a CM (counting multiplicities), if f and g have the same a-points with the same multiplicity. Let k be a positive integer, we denote by $N_k(r, 1/(f - a))$ the counting function of a-points of f with multiplicity $\leq k$, by $N_{(k+1)}(r, 1/(f - a))$ the counting function of a-points of f with multiplicity > k, and by $E_{1}(a, f)$ the set of simple a-points of f.

In [3] R. Nevanlinna proved the following theorem:

THEOREM A. Let f and g be two non-constant entire functions satisfying N(r, 1/f) = N(r, 1/g) = 0. If f and g share the value 1 CM, then either f = g or fg = 1.

H. X. Yi [4] improved Theorem A and proved the following theorem:

THEOREM B. Let f and g be two non-constant meromorphic functions satisfying $\overline{N}(r, 1/f) + \overline{N}(r, f) = S(r, f)$ and $\overline{N}(r, 1/g) + \overline{N}(r, g) = S(r, g)$. If $E_{1}(1, f) = E_{1}(1, g)$, then either f = g or fg = 1.

Classification Categories: Math. Subject Classification: 30D35. *Keywords:* Nevanlinna theory, uniqueness theorem, share CM. Received August 29, 2002; revised May 28, 2003.

On the other hand R. Brück [5] proved the following theorem:

THEOREM C. Let f be a non-constant entire function satisfying N(r, 1/f') = S(r, f). If f and f' share the value 1 CM, then f - 1 = c(f' - 1), where c is a nonzero constant.

In this paper we improve the Theorem A and Theorem C and obtain the following results:

THEOREM 1. Let f and g be two non-constant meromorphic functions satisfying $\overline{N}(r, 1/g) + \overline{N}(r, g) = S(r, g)$ and $\overline{N}(r, f) = S(r, f)$. If f and g share the value 1 CM, then f and g satisfy one of the following: (i) f - 1 = c(g - 1), where c is a nonzero constant. In particular, when

(1) f - 1 = c(g - 1), where c is a nonzero constant. In particular, when c = 1, f = g;

(ii) (f-b)g = 1-b, where $b(\neq 1)$ is a constant. In particular, when b = 0, fg = 1; fg = 1; $T(-f) = N_{-}(-1/f) + S(-f) = V_{-}(-1/f) + S(-f)$

(iii)
$$T(r, f) = N_{2}(r, 1/f) + S(r, f)$$
 and $T(r, g) = N_{1}(r, 1/f') + S(r, f)$

From Theorem 1, we deduce the following corollaries:

COROLLARY 1. Let f and g be two non-constant meromorphic functions satisfying $\overline{N}(r, 1/g) + \overline{N}(r, g) = S(r, g)$ and $\overline{N}(r, f) = S(r, f)$. If f and g share the value 1 CM, and if $T(r, f) \neq N_{2}(r, 1/f) + S(r, f)$, then either f = g or fg = 1.

This improves a result of Theorem A and is related to Theorem B (see Remark 1).

COROLLARY 2. Let f be a non-constant meromorphic function satisfying $\overline{N}(r, 1/f') + \overline{N}(r, f) = S(r, f)$. If f and $f^{(k)}$ $(k \ge 1)$ share the value 1 CM, then $f - 1 = c(f^{(k)} - 1)$, where c is a nonzero constant.

It is obvious that Theorem C is a special case of Corollary 2.

Remark 1. The following example shows that the condition f and g share the value 1 CM in Theorem 1 or Corollary 1 cannot be replaced by the condition $E_{1}(1, f) = E_{1}(1, g)$:

Example 1. Let $f(z) = (e^z - 1)(e^z + 1)^2 + 1$ and $g(z) = e^z$. Obviously, $E_{1)}(1, f) = E_{1)}(1, g)$, $\overline{N}(r, 1/g) + \overline{N}(r, g) = 0$ and $\overline{N}(r, f) = 0$. But the conclusion of Theorem 1 or Corollary 1 is not valid.

Remark 2. The following examples show that each of the above cases in Theorem 1 definitely happens:

Example 2. Let $f(z) = 1 + 2(e^z - 1)$ and $g(z) = e^z$. Then f and g satisfy the hypotheses of Theorem 1 and f - 1 = 2(g - 1). Hence case (i) occurs.

Example 3. Let $f(z) = e^z + 5$ and $g(z) = -4e^{-z}$. Then f and g satisfy the hypotheses of Theorem 1 and (f - 5)g = -4. Hence case (ii) occurs.

Example 4. Let $f(z) = e^{z}(e^{z} - 1) + 1$ and $g(z) = e^{z}$. Then f and g satisfy the hypotheses of Theorem 1 and $T(r, f) = N_{1}(r, 1/f) + S(r, f)$, $T(r, g) = N_{1}(r, 1/f') + S(r, f)$. Hence case (iii) occurs.

Example 5. Let $f(z) = (e^z + 1)^2$ and $g(z) = -(1/2)e^z$. Then f and g satisfy the hypotheses of Theorem 1 and $T(r, f) = N_{2}(r, 1/f) + S(r, f)$, $T(r, g) = N_{1}(r, 1/f') + S(r, f)$. This also belongs to case (iii).

2. Some lemmas

For the proof of our results we need the following lemmas:

LEMMA 1 [4]. Let f be a non-constant meromorphic function. If $\overline{N}(r, 1/f) + \overline{N}(r, f) = S(r, f)$, then $T(r, f) = N_{1}(r, 1/(f-1)) + S(r, f)$.

LEMMA 2 [6]. Let f and g be two non-constant meromorphic functions. If f and g share the value 1 CM, and if $A(f'/g') \neq ((f-1)/(g-1))^2$, for every nonzero constant A, then

$$N_{1}\left(r,\frac{1}{f-1}\right) \leq \overline{N}\left(r,\frac{1}{f'}\right) + \overline{N}\left(r,\frac{1}{g'}\right) + \overline{N}(r,f) + \overline{N}(r,g) + S(r,f) + S(r,g).$$

LEMMA 3 [7]. Let f be a non-constant meromorphic function. If $\overline{N}(r, 1/f) + \overline{N}(r, f) = S(r, f)$, then $\overline{N}(r, 1/f') = S(r, f)$.

3. The proofs

3.1 Proof of Theorem 1

Since f and g share the value 1 CM, we get by using the Lemma 1 that

(3.1)
$$T(r,g) = N_{1}\left(r,\frac{1}{g-1}\right) + S(r,g) = N_{1}\left(r,\frac{1}{f-1}\right) + S(r,g)$$
$$\leq T(r,f) + S(r,g).$$

It follows that every S(r,g) is also an S(r, f). We consider the following meromorphic function:

$$h = \frac{f-1}{g-1}$$

Since f and g share the value 1 CM, we may obtain from (3.2)

$$\overline{N}\left(r,\frac{1}{h}\right) + \overline{N}(r,h) \le \overline{N}(r,f) + \overline{N}(r,g),$$

by $\overline{N}(r, f) = S(r, f)$ and $\overline{N}(r, g) = S(r, g)$, we deduce that

(3.3)
$$\overline{N}\left(r,\frac{1}{h}\right) + \overline{N}(r,h) = S(r,f).$$

Differentiating (3.2) we obtain

(3.4)
$$f' = h'(g-1) + hg'$$

If $f'(z_0) = 0$ and $g(z_0) \neq 1$, then from (3.4), $0 = h'(z_0)(g(z_0) - 1) + h(z_0)g'(z_0)$. Then from (3.3) and (3.4) we deduce that

$$(3.5) \qquad \overline{N}\left(r,\frac{1}{f'}\right) \leq \overline{N}\left(r,\frac{1}{h'/h+g'/(g-1)}\right) + \overline{N}_{(2}\left(r,\frac{1}{g-1}\right) + S(r,f)$$

$$\leq T\left(r,\frac{h'}{h} + \frac{g'}{g-1}\right) + O(1) + \overline{N}_{(2}\left(r,\frac{1}{g-1}\right) + S(r,f)$$

$$\leq N\left(r,\frac{h'}{h}\right) + N\left(r,\frac{g'}{g-1}\right) + S(r,h) + S(r,g)$$

$$+ \overline{N}_{(2}\left(r,\frac{1}{g-1}\right) + S(r,f)$$

$$\leq \overline{N}\left(r,\frac{1}{h}\right) + \overline{N}(r,h) + \overline{N}(r,g) + \overline{N}\left(r,\frac{1}{g-1}\right)$$

$$+ \overline{N}_{(2}\left(r,\frac{1}{g-1}\right) + S(r,f)$$

$$\leq N\left(r,\frac{1}{g-1}\right) + S(r,f)$$

$$\leq T(r,g) + S(r,f).$$

On the other hand, by Lemma 2, there are two cases that we need to observe separately.

CASE I. $A(f'/g') = ((f-1)/(g-1))^2$, for some nonzero constant A.

By integration, we get A/(f-1) = 1/(g-1) + B, where B is a constant, which may be written in the form

(3.6)
$$f(1 - B + Bg) = (A + B)(g - 1) + 1.$$

262

We consider three subcases.

CASE I.1: B = 0. From (3.6), we see that f - 1 = A(g - 1), which is (i).

CASE I.2: B = 1. From (3.6), we find that g[f - (1 + A)] = 1 - (1 + A), which is (ii).

CASE I.3: A = -B. From (3.6), it follows that f = -1/A[g - (1 + 1/A)]. Hence $\overline{N}(r, f) = \overline{N}(r, 1/(g - (1 + 1/A))) = S(r, f)$. Then by the second fundamental theorem for g we deduce that if $A \neq -1$,

$$(3.7) T(r,g) \le \overline{N}\left(r,\frac{1}{g}\right) + \overline{N}\left(r,\frac{1}{g-(1+1/A)}\right) + \overline{N}(r,g) + S(r,g)$$
$$\le S(r,g) + S(r,f) = S(r,f).$$

From (3.6), it is easy to see that S(r, f) = S(r, g). Thus, by (3.7) we see that T(r,g) = S(r,g), a contradiction. Hence we obtain that A = -1. Then by (3.6) we get fg = 1, which is (ii).

Now suppose $B \neq 0, 1$ and $A \neq -B$. Thus (3.6) reads

$$f = \frac{(A+B)[g - (1 - 1/(A+B))]}{B[g - (1 - 1/B)]}$$

Hence $\overline{N}(r, f) = \overline{N}(r, 1/(g - (1 - 1/B))) = S(r, f)$. This contradicts the second fundamental theorem for g.

CASE II.
$$A(f'/g') \neq ((f-1)/(g-1))^2$$
, for every nonzero constant A.

From Lemma 2, the hypotheses of Theorem 1 and Lemma 3 it follows that

$$N_{1}\left(r,\frac{1}{g-1}\right) \leq \overline{N}\left(r,\frac{1}{f'}\right) + S(r,f),$$

and so, from Lemma 1,

(3.8)
$$T(r,g) \le \overline{N}\left(r,\frac{1}{f'}\right) + S(r,f).$$

The combination of (3.5) and (3.8) yields

(3.9)
$$T(r,g) = \overline{N}\left(r,\frac{1}{f'}\right) + S(r,f).$$

Since f and g share 1 CM, we see from (3.9) and Lemma 1 that

(3.10)
$$N\left(r,\frac{1}{f-1}\right) = \overline{N}\left(r,\frac{1}{f'}\right) + S(r,f).$$

From (3.10) and the second fundamental theorem for f, we find that

$$\begin{split} T(r,f) &\leq N\left(r,\frac{1}{f}\right) + \overline{N}(r,f) + N\left(r,\frac{1}{f-1}\right) - N\left(r,\frac{1}{f'}\right) + S(r,f) \\ &\leq N\left(r,\frac{1}{f}\right) + \overline{N}\left(r,\frac{1}{f'}\right) - N\left(r,\frac{1}{f'}\right) + S(r,f). \end{split}$$

It follows that

$$T(r, f) = N\left(r, \frac{1}{f}\right) + S(r, f)$$
 and $N\left(r, \frac{1}{f'}\right) = \overline{N}\left(r, \frac{1}{f'}\right) + S(r, f).$

From this we conclude that

$$T(r, f) = N_{2}\left(r, \frac{1}{f}\right) + S(r, f)$$
 and $N\left(r, \frac{1}{f'}\right) = N_{1}\left(r, \frac{1}{f'}\right) + S(r, f).$

From this and (3.9) we arrive at the conclusion (iii).

3.2 Proof of Corollary 1

By Theorem 1, we divide into the following two cases:

CASE 1. f-1 = c(g-1), where c is a nonzero constant. This implies that $\overline{N}(r, 1/(f - (1-c))) = \overline{N}(r, 1/g) = S(r, f)$. If $c \neq 1$, we get by using the second fundamental theorem for f

$$\begin{split} T(r,f) &\leq \overline{N}\bigg(r,\frac{1}{f}\bigg) + \overline{N}\bigg(r,\frac{1}{f-(1-c)}\bigg) + \overline{N}(r,f) + S(r,f) \\ &\leq \overline{N}\bigg(r,\frac{1}{f}\bigg) + S(r,f). \end{split}$$

It follows that $T(r, f) = N_{1}(r, 1/f) + S(r, f)$, which contradicts our hypotheses. Therefore, c = 1 and so f = g.

CASE 2. (f-b)g = 1 - b, where $b \neq 1$ is a constant. Similar to the proof of Case 1, we obtain b = 0. Hence fg = 1.

3.3 Proof of Corollary 2

Let F = f and $G = \overline{f^{(k)}}$. Then it is clear that $\overline{N}(r, F) = \overline{N}(r, f)$ and $\overline{N}(r, 1/G) + \overline{N}(r, G) = \overline{N}(r, 1/f^{(k)}) + \overline{N}(r, f)$. Note that

$$\begin{split} \overline{N}\left(r,\frac{1}{f^{(k)}}\right) &= \overline{N}\left(r,\frac{f'}{f^{(k)}}\cdot\frac{1}{f'}\right) \leq \overline{N}\left(r,\frac{f'}{f^{(k)}}\right) + \overline{N}\left(r,\frac{1}{f'}\right) \\ &\leq N\left(r,\frac{f^{(k)}}{f'}\right) + \overline{N}\left(r,\frac{1}{f'}\right) + S(r,f) \\ &\leq k\overline{N}\left(r,\frac{1}{f'}\right) + (k-1)\overline{N}(r,f) + S(r,f) = S(r,f). \end{split}$$

264

Thus from the hypotheses of Corollary 2, it follows readily that F and G share the value 1 CM, $\overline{N}(r, 1/G) + \overline{N}(r, G) = S(r, F)$ and $\overline{N}(r, F) = S(r, F)$. From this, it is not difficult to see that S(r, F) = S(r, G). Applying Theorem 1 to F and G, we divide into the following three cases:

CASE 1. F-1 = c(G-1), where c is a nonzero constant, so that $f-1 = c(f^{(k)}-1)$, is what we wanted.

CASE 2.
$$G(F-b) = 1-b$$
, where $b \neq 1$ is a constant, so that
(3.11) $f^{(k)}(f-b) = 1-b$.

From this a short calculation with Laurent series shows that

(3.12)
$$N(r, f) = S(r, f).$$

Using (3.11) again we obtain $\overline{N}(r, 1/(f-b)) = S(r, f)$, from this and the second fundamental theorem for f, we have

(3.13)
$$m\left(r,\frac{1}{f-1}\right) = S(r,f).$$

Set

(3.14)
$$\Delta = \frac{f^{(k)} - 1}{f - 1}.$$

Keeping in mind that f and $f^{(k)}$ share 1 CM, we see that (3.12), (3.13) and (3.14) imply that

$$(3.15) T(r,\Delta) = S(r,f).$$

Then from (3.11) and (3.14) it follows that

$$\Delta f^2 - (\Delta + b\Delta - 1)f - (1 + b\Delta) = 0.$$

From this, (3.15) we conclude T(r, f) = S(r, f) which is a contradiction.

CASE 3. $T(r, f^{(k)}) = N_{1}(r, 1/f') + S(r, f)$. Since $\overline{N}(r, 1/f') = S(r, f)$, we have $T(r, f^{(k)}) = S(r, f) = S(r, f^{(k)})$ which is a contradiction.

Acknowledgement. I am grateful to the referee for valuable suggestion and comments.

References

- [1] HAYMAN, W. K., Meromorphic functions, Clarendon Press, Oxford, 1964.
- [2] NEVANLINNA, R., Le théorème de Picard-Borel et la théorie des functions méromrphes, Gauthiers-Villars, Paris, 1929.
- [3] NEVANLINNA, R., Einige eindeutigkeitssätze in der theorie der meromorphen funktionen, Acta Math., 48 (1926), 367–391.

- [4] YI, H. X. AND YANG, C. C., Uniqueness theory of meromorphic functions, Science Press, Beijing, 1995.
- BRÜCK, R., On entire functions which share one value CM with their first derivative, Results in Math., 30 (1996), 21–24.
- [6] AL-KHALADI, AMER H. H., The uniqueness of entire functions with their derivatives, Northeast Math. J., 16 (2000) 1, 75-81.
- [7] AL-KHALADI, AMER H. H., On unicity of the family A' of meromorphic functions, Chinese quarterly J. of Math., 14 (1999) 4, 84–91.

DEPARTMENT OF MATHEMATICS FACULTY OF EDUCATION AL-NADIRA CITY IBB PROVINCE, P.O. BOX NO. 75508 REPUBLIC OF YEMEN